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Method of Transforming from a Plane Figure
to a Solid Figure with a Parsonal Computer

Takeharu YAMADA

This paper explains the graphic processing method adapted to produce three dimensional
displays from objects represented by only two dimensional planes.

The x—y values at each vertice of the plain figure in front, plane and side elevation
are input by computer key.

The data are checked for errors and reduced to three dimensional x—y—z values in
the computer.

As a result, this method enables the personal computer to be used for more

educational work in machine design.
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‘save "CAD
WIDTH 80,25:CONSOLE 0,25,0,0:CLS 3
Pl=3.14189:DEG=PI/1

LINE(0.0)-(639,199),6,B,8H
LINE(0,100)~ (‘!' 100),5, .8

LINE(320,0)-¢(320,189), !.,lHI.ll

DIN IAT(4.4).P(IOO.I).A(l.lOO).B(I.\OO)
DIM PX(1,100),PY(1,100),PZ2(1,100)
DIM X(100),Y(100),2(100)

GOSUB #XYZDATA

GOSUBeNENU

ON NO GOTO #NC},sNC2,eNC3
*NC1:GOSUB « CODE1:GOTO 290
#NC2:GOSUB » CODE2:GOTO 290
*NCJ:GOSUB « CODEJ:GOTO 290

KFs=0:X320:XPs0
* FOR Psl TO PaA
FOR J#1 TO 2
ON J GOTO »21,e22
*Z1:CoPONT(1,P)
FOR Le1 TO PA :FPS(J,L)sPHASE(1,L):NEXT L :GOSUB XYZ:GOTO 370
sI2:CePONT(2,P)
FOR L=1 TO PA :FPS(J,L)=PHASE(2,L):NEXT L:GOSUB sXYZ
NEXT J
ON NO GOTQO eNP1,+NP2,eNP3
NP1 :PFS1sCXY2Z(1,2):PFS2sCXYZ(2,1):GOSUB *CHECK:GOTO 420
WNP2:PPS1eCXYZ(1,1):PFS2aCXYZ(2,1):1GOSUB #CHECK:GOTO 420
NP3 :PP31eCXYZ(1,2):PFS22CXYZ(2,2) :GOSUB #CHECK:GOTO 420
NEXT P
GOSUS »AB)
GOSUB eAB2
GOSUB *AB3:GOTO 230
*XYZ:Ka0
PFOR Il TO PA
IF FPS(J,12¢C THEN 830
ON J GOTO eS1
*81: l-l*l XYll(J K)sWANT1(1,1):1XYZ2(J,K)®WANT2(1,1) :NO(J,X)sNODE(1,1)
GOTO 83
*82: l-l‘l XYZ1CJ . K)wWANT1(2,1):XYZ2(J,K)mWANT2(2,1):NO(J,X)=NODE(2, 1)
NEXT
ON J GOTO oT1,eT2
oT1:FOR [v] TO K:XYZ2(J, 1)8XYZ2(J,1)=XYZO(J) :NEXT |
CXYZ(J,1)eXYZ1(J,1)-XY21(J,2): CXYZ(J 2)uXY¥22(J,1)-XYZ2(J,2):GOTO 690
ST2:FOR I»1 TO K:XYZI(J,1)sXYZ1(J,1)-XYZO(J): Nl 1
CXYZ(J,1)®XYZ1(J,1)-XYZ1(J,2):CXYZ(J,2)aXYZ2(JI,1)-XYZ2(J,2)
RETURN
*CHECK: IF PFS]1ePFS2¢0 THEN 650
IF PPS1sPPS2 THEN UAL(1)+PFS1

UAL(2)#0:GOTO 680
[¥F PPS1sPFS2  THEN UAL(2)sPPFS|
UAL(1)90:GOTO 890
IF PPS2 < O THEN UAL(2)eABS(PPS2):SWAP NO(2,1),M0(2,2)
UAL(1)2ABS(PPS2):UAL(2)=0
IF PFS1 < O THEN UAL(2)=ABS(PPS1):SWAP NO(1,1),M0(1,2)
UAL(1)=ABS(PPFS]) :UAL(2)e0
ON NO GOTO @NOlL, ®NO2,eNOJ
*NO1:GOSUB OPOUTl'OOYO 730
#NO2:GOSUB #POUT: 0T0 730
*NQJ: GOSUB #POUTI:GOTO 730
RETURN
*CODEL
FOR =1 TO Pa
PONT(1,1)eXP(1):PONT(2,1)eZF(I)
PHASE(1,1)eXP(]1):PHASE(2,1)eZ8(
WANT1(1,1)eXP([):WANT2(1,1)sYP(
WANT1(2,1)wYS(1):VANT2(3,1)e28(
NODE(1,1)=NOP({):NODE(2,])=NOS(
NEXT |:RETURN
*CODE2
FOR a1 TO PA
PONT(1,1)sYS(1):PONT(2,1)228¢(])
PHASE(L, 1)wYP(1):PHASE(2,1)a2ZP(
WANT1(1, D)eXP(1) :WANT2(1, 1) eYP(
VANT1(2,1)eXF(]1):WANT2(2,1)e2P(
NODE(1,[)sNOP(!):NODE(2,1)sNOF(
NEXT 1:RETURN
+CODE3
FOR 1«1 TO PA
PONT(1, [)sXP(1):PONT(2,]1)sYP(])
PHASE(1, 1)eXF(1):PHASE(2,1)eYS(
WANT1 (1, 1)sXP(T):WANT2(1,[)eZF(
WANT1(2,1)8YS(1):VWANT2(2,1)028¢
NODE(1,1)#NOF(]):NODE(2,1)sNOS(
NEXT [:RETURN
ePOUT1:FOR Isl TO K:KFakFel
LPRINT MO(1,1),MOC2,1),XYZ1 (1, 1), UALCT),XYZ2(2,1) ,KF
ACL,XP)aMO(1. 1)
B8(2.XF)aM0O(2,1)
PX(l.lF)'XYll(l,l) PYC1,KF)aUAL(1):PZ(1,KP)»XYZ2(2,1)
NEXT 1:RETURN
*POUTZ2:FOR I»1 TO K:KS=KSel
LPRINT MOCL,[).NO(2,1),UALCE) , XYZ2(1,1),XYZ2¢2,1),KS
A1, K8)eNO(L, T
B(2,K8)aM0(2, 1)
PX(1,KS)SUAL(T):PY(1,K8)eXY2Z2(1,1):PZ(]1,KS)eXY2Z2(2,1)
NEXT I1: nrrum
OPOUTI:POR Ia]l TO K:KPsKP+)
LPRINT NO(1,1),MO(2,1),XYZ1(1,1),XY21¢2,1),UAL(]) ,KP
AC,KP)SNO(L, 1)
B(2,XPremo(2,1)
PX(Y, IP)-XYZ\U DYIPY(L,KP)SXYZI(2, 1) :PZ(1 ,KP)sUAL(T)
NIXT 1: RUUI

1
18]
1B}
N

1
n
18}
3]

8]
3]
3]
1

SXYZDATA:CLS

INPUT ~ENEIOADE PF=-, PF

INPUT ~WIEOADN PSe-,Ps

INPUT ~RWEOADR PPs" PP

FOR 1wl TO PF: INPUT “XF,ZF,NOF=" XF(1),ZF(1),NOP(I): NBXT ! : 'saniLa~
FOR 11 TO PS: INPUT “YS,2S,NOSe" YS(1),ZS(1) NOSCI): NEXT I : ‘Y243 1°
FOR Is1 TO PP: INPUT “XP,YP,NOP=" ,XP(I),YP(I),NOP([): NEXT | cadauat
FOR ls] TO PF: PRINT XP(1),2F({),NOP(I}: NEXT | :*
FOR [«! TO PS: PRINT YS(I).ZS(I),NOS(I): NEXT | :°
FOR 1s1 TO PP: PRINT XP(I),YPCI),NOP(1): NEXT I :*
RETURN

SMENU: CLS

LOCATE 30,4 :PRINT
LOCATE 30.6 :PAINT
LOCATE 30,8 :PRINT ™
LOCATE 30,10:PRINT
LOCATE 30,12:PRINT
LOCATE 30,13:PRINT (lmwn)"

LOCATE 30,18:PRINT

LOCATE 30,17:INPUT * no-~,no

ON NO GOTO #NL1,eNL2,NLS,eNL4, eNLE, sNL§
SNL1:LOCATE 20,19:INPUT w-uou XY2(1), mu)-
PASPF:PRINT:PRINT ~ iE W @ ":PRINT:GOTO 14
ONL2:LOCATE 20,19: INPUT “XMIZOEE XYZ(1), x‘u(z)-".xvzo(n XY20(2)
PAsPS:PRINT:PRINT * 1 W & “:PRINT:GOTO 148

*NL3:LOCATE 20,19 INPUT “ZMYIOEE XVZ(1) xvz(n-".xvzou) XYZ0(2)
PAsPP:PRINT:PRINT ~ & W B ":PRINT:COTO 1440

LXYZ0(1),XYZ0(2)
Jat35 A

X 5
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eNL4: GOTO 220
*NL. GOTO 2930
eNL6: CLS:END
RETURN

tdJuN-(M/4)+]
POII Is1 TO N
1F I3 THEN GOTO 1540 ELSE 1640
ALCL JIdeA(L, 1):A2(),1)eA(1,00)
PX1(1,JJ)ePX(1,1):PY1(]1,J0)8PY(1,1):P21(1,Jd)=P2(1,1)
PX2(1, 1)ePX(1 . JJ):PY2(1, 1)PY(],JJ):PZ2CL,1)=P2(1,Jd)

B1(2,J1)aB(2,1):B2(2,1)sB(2,J])

ACY, D)eA2(L, D) 1AL JD)eAL (L, J0)
PXC1,1)=PX2C1,1):PY(1,1)8PY2(1,1):PZ(1,1)=P22(1,1)
PX(1,JJ)ePX1(1,JIYPYCL,JI)wPYICY, 30D :PZ(1,Jd)eP2ICL J0)

J1)wB2(2,1):8¢2,J0)8B1(2,3J)
LPRINT ACL1,. 1), B(2.1),PX(1,1),PYC1,1),PZO1, 1),

GOTO 1740

1F I»4 THEN GOTO 1650 ELSE 1730

AlLC),JJe1)ma(t,1):A2(1,1)eA(),JJe1)
PX1C1,JJe1)wPX(1, 1) :PYEC), JJe1)oPY (1, 1):PZI(L, 3001 aPZ(L, 1)
PX2C1,TYePXCL, JJe1)iPYR(1, 1)uPY(1,J]e1):PZ2(1,1)sPZ(1,JJe1)

B1(2,J7°1)8B(2,1):B2(2,1)wB(2,3Is1)

AL, 1)eAZCL, 1) tACL, Jde1)mAL(1,3)¢1)

PXCL, 1)ePX2C1, 1):PYCL,1)ePY2(1, 1) P21, 1)oPZ2(1, 1)
PX(1,JJo13uPX1 (1, JI41):PY(1,JJ+1)aPYL(],JJ*1):PZ(L,JJ+1)3PZ1(},dJ01)

B(2,1)eB2(2,1):B¢2,JJ*1)B1(2,JJ%1)

LPRINT AC1,1),B62,1),PX(1,1),PY(1,1),PZ(1, 10,1
NEXT 1:RETURN
. ~ ==
SAB1:CLS :1]30:Ka0
LOCATE 28,11:INPUT
GavM-PA
feswmenes=- main
GOSUB 2080: "
GOSUB 2500
FOR (a1 TO M

l(l)-PX(l,l) YC1)sPY(1,12:2(1)eP2(1,1)
GOSUB 2430 set point

NEXT 1

"IUBOMADK PO=" N

initialize matrix
set tri

FOR [l TO G

PRINT - CLACLIYLXCD) YO 26D L Y
NEXT |
----------------- line =v==-mevcocccaanaa
FOR Xs1 TO G
FOR 1s1 TO G
HsleG
1P A¢1.11)=A(1.K) THEN 1980 ELSE 2020

BE(2,1)e8(2,11)
SX=3204P(K,1):8Yn100-P(K,2)e. 4495
EXw3204P(11,1):EYs100-P(]],2)%.4498

LINE (8X,8Y)-(EX,BY),2

===+ initiatize matrix
FOR 1wl TO 4
FOR Jel TO 4
IF T») THEN MAT(!,J)sl BLSE NAT(l,J)=0
NEXT J
NEXT 1
NAT(3,3)m-1}
RETURN
'wewmmsecsve lransiate matrix
MAT (4. 1)eMAT(4,1)eTX
MAT(4,2)sMAT(4,2)TY
NAT(4,0)eMAT(4,3)+12
RETURN
‘ev<=w=-ese= rotation X
$1sSIN(RXeDEG) : CO=COS (RXeDEG)
FOR Is1 TO 4
TEMPwMAT (1,2)9CO-MAT(!,3)08]
MAT(T,2)eMAT(1,2) ¢S 1+MAT(],3)9CO
MAT(1,2)sTENP
NEXT |

---------- rota

SI=SIN(RYeDEG): CO'(‘OS(IYODEG)
FOR Is! TO ¢

TEMPaMAT (1, 3)eCO-MAT (], 1) 08!

MATCT, 1) aMAT(1,3) 81 +MAT(1,])0C0O

NAT(T.3)eTENP

NEXT |

IWUIN

------ »==== rotati

ll-llN(lZ'D!G) CO-CO!(IZODBG)
FOR Isl YO

TEMPsMAT(I, l)‘CO-lAT(I 2)e8]

NAT(I.!)IIATU,l)til'lAT(l.?)'CO

MAT(I,1)=TENP

NEXT |

RETURN

P
X1oXCLYOMAT(1, 1) eY(1)OMAT(2,1)+Z(1)OMAT(I, 1) *NAT(4,1)
YIsXCI)OMAT(1,2)+Y(1)OMAT(2,2)+Z(1)eNAT(3,2)¢NAT(4,2)
ZIaXCIIOMAT(1, 3)¢Y(1)OMAT(2,3)+2(1)eMAT(3,3)+MAT(4,3)
P, 1)m=INT(X1/Y18100)

P(1.,2)s~INT(21/Y10100)
RETURN

R T 1

- loop

LOCATE 28,11:INPUT "!n!-r Rotation Axis And Angle :",AXS$,RA
IF AXSs X" OR AX8$="x" THEN RXsRA :GOSUB 2180:G0TO 2!10

IF AXS="Y" OR AX$=»"y” THEN RYsRA :GOSUB 2260:G0TO 3810

IF AXSw"“Z" OR AX®s~z" THEN RZeRA :GOSUB 2340:G0TO 2810

IF AXS¢>“Q" AND AX8<¢>“q™ THEN 2510

ny -

LOCATE 28,1 Enier Translate Dx,Dy,Dz :",TX,TY,TZ
GOSUB 2130 translate matrix

RETURN

N vy,
*ABY

CLs

POR [»1 TO M
XCDYePX(L, D) Y (1) aPY(1,1)¢ 2(!)-?2(1 1
SET PO

GOSUB 2860
NEXT 1
‘ececevemcs |{fe vmecscscceees
FOR Is1 TO PA

PRINT ~ LI N SA IR (AR DT {2 DN |
NEXT |
fee. line =
FOR Kol TO PA

FOR I»]1 TO G

TTalePa

DA b
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2770 1k B(2,11)eB(3,K) THEN 2780 ELSE 2820
1780 Al DysAl,11)
2790 $X=320+P(K,1):3Ys100-P(K,2)e. 4498
2800 EXe3204P(I!,1):BY=100-P(11,2)e,4495
2810 LINE ($X,8Y)-(EX,EY),2

NI I

2860 'moceeecacccece got point - - -
2870 X1eXCI)OMAT(1,1)eY(1)OMAT(2,1)*ZC1)oMAT(3,1)+MAT (4,13
2880 Y1eX(I)OMAT(1,2)eY(1)WMAT(2,2)¢Z(1)oNAT(3,2) +MAT(4,2)
2890 Z1aX(I)OMAT(1,3)+Y(1)OMAT(2,3)+Z(1)oMAT(3,3) +MAT (4,3)
2900 P(1,1)e-INT(X1/Y1#100) :
2810 P(1,2)u-INT(Z1/Y1¢100)

2920 RETURN

1930 '--- AR

2940 POR Is] TO N

1980 PRINT “A.B,X,Y,Ze", ACL,1),B(2,1),X(1),Y(1),2(1),1
§

2980 F X¢1)s0 AND Y([)s0 AND Z(1)¢>0 THEN GOSUB 3080 :GOTO 3040 :'[s8
2970 IF X(1)¢<>0 AND Y{(1)%0 AND Z(1)s0 THEN GOSUB 3100 :GOTO 3040 :‘ls4
2930 ir

X(1)=0 AND Y(1)<>0 AND Z(1)s0 THEN GOSUB 3120 :GOTO 3040 :‘[x§
2990 IF X(1)e0 AND Y(1)¢>0 AND Z(1)(>0 THEN GOSUB 3140 :GOTO 3040 :°[=7
3000 IF XC1)€)0 AND Y(1)¢>0 AND Z(1)¢>0 THEN GOSUB 3180 :GOTO 3040 Is3
3010 IF XC1)¢>0 AND Y(1)»0 AND Z(1)¢>0 THEN GOSUB 3180 :GOTO 3040 :'ls2
3020 I; X(12¢>0 AND Y(I)¢>0 AND Z(1)=0 THEN GOSUB 3200 :GOTO 3040 :'[s3
3030 1

X(1)30 AND Y(!)e0 AND Z(1)w0 THEN GOSUB 3220 :GOTO 3040 :°l=6
3040 NEXT |

3050 GOSUB #AC

3080 GOTO 230

3070 ' RETURN

3080 EX80320P([,1):EYB=100-P(1,2)e.4495
3090 RETURN

3100 EX423204P(1,1):EY4s100-P(1,2)e.4488
3110 RETURN

3120 EX533204P(1,1):EY62100-P(1,2)%, 4495
3130 RETUAN

3140 EXT#3204P(1,1)tEY72100-P(i,2)s.4498
3180 RETURN

3180 !XlISZO'P(l,l):!YlllOO‘F(l.?)'.(‘QS
3170 RETURN

3180 EX2#320+P(1,1):EY38100-P(1,2)%. 4485
3190 RETURN

3200 EX39320+P(1,1):EY39100-P(1,2)e.4498
1210 RETURN

3220 PX623204P(1,1):EYE100-P(1,2)0. 4495

3360 eBC:CLS

3270 LINB(EXS-1,EY8+1)-(EX4+1,EY4-1),0,BF
3280 IF EYSCEYT THEN 3290 ELSE 3310

3290 LINE(EXS+1,EY7)~(EXE-1,EYS),0,BF
3300 GOTO 3320

3310 LINE(EX8+1 .EYS+1)-(EXS-1,RBYS),0,BF
3320 IF EX8>EX] AND EYS>EY! THEN 3330 ELSE 3350
3330 LINE(EXS-1,EY8-1)-(EXi-1,EY1),0,BF
3340 GOTO 3370

3380 [P EX8sEX! AND EY8<>EY1 THEN 3360
3380 LINE(EXS-1,EY8-1)-(EX1,EYi-1),0

3370 RETURN

ChODRFREYERL, BEHEDIIGHREERLUBERYRRLLELONRMT, K8 TH 5,
AEKERIL, CRTRRRENTLKEE 7Y VAR ERE-DTH D,
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